

Name: Colin Reid  
 Matrik no.: 12114002/100  
 Department: Mechanical  
 Course: PAAG 281

1.  $\lim_{x \rightarrow \infty} \frac{1}{x}$ , find  $\lim_{x \rightarrow \infty} \frac{1}{x}$

solution  
 $\lim_{x \rightarrow \infty} \frac{1}{x} = 0$   
 $\lim_{x \rightarrow \infty} \frac{1}{x} = 0$

2.  $\lim_{x \rightarrow 0} \frac{\ln(x)}{x}$

$f(x)$	$x \rightarrow 0$	$g(x)$	$\frac{f(x)}{g(x)}$
8.50	5.76	6.10	1.41
8.55	5.71	6.05	1.41
8.60	5.71	6.05	1.41
8.65	5.71	6.05	1.41
8.70	5.71	6.05	1.41
8.75	5.71	6.05	1.41
8.80	5.71	6.05	1.41
8.85	5.71	6.05	1.41
8.90	5.71	6.05	1.41
8.95	5.71	6.05	1.41
9.00	5.71	6.05	1.41

From the table the left hand and right hand limits are equal and therefore  $\lim_{x \rightarrow 0} \frac{\ln(x)}{x} = 0$

3. Find the limit of the model given in equation 2

solution  
 $\lim_{x \rightarrow \infty} \frac{2x-3}{x-1}$   
 $= \lim_{x \rightarrow \infty} \frac{2(x-1)+2}{x-1}$   
 $= \lim_{x \rightarrow \infty} \frac{2(x-1)+2}{x-1}$   
 $= \lim_{x \rightarrow \infty} \left( 2 + \frac{2}{x-1} \right)$   
 $= 2 + 0 = 2$

4. Evaluate the limit of the model given the equation (1) if it exists

RHL:  $\lim_{x \rightarrow 2^+} \frac{2x-3}{x-1} = \frac{\ln(2+1)-3}{(2+1)-1} = \frac{\ln(3)-3}{2-1} = \ln(3) - 3$   
 LHL:  $\lim_{x \rightarrow 2^-} \frac{2x-3}{x-1} = \frac{\ln(2-1)-3}{(2-1)-1} = \frac{\ln(1)-3}{1-1} = \frac{0-3}{0} = \frac{-3}{0} = -\infty$

Since  $\lim_{x \rightarrow 2^+} \frac{2x-3}{x-1} \neq \lim_{x \rightarrow 2^-} \frac{2x-3}{x-1}$   
 it does not exist

5. Show that the function given in equation (1)  $f(x) = \sqrt{x}$  is continuous on the interval  $(0, \infty)$

at point  $a = 4$       at point  $a = 9$   
 $f(4) = \sqrt{4} = 2$        $f(9) = \sqrt{9} = 3$   
 $\lim_{x \rightarrow 4} f(x) = \lim_{x \rightarrow 4} \sqrt{x} = \sqrt{4} = 2$        $\lim_{x \rightarrow 9} f(x) = \lim_{x \rightarrow 9} \sqrt{x} = \sqrt{9} = 3$   
 $\lim_{x \rightarrow 4} f(x) = f(4)$        $\lim_{x \rightarrow 9} f(x) = f(9)$   
 Hence  $f(x)$  is continuous at  $(0, \infty)$